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Objective: Solve equations.

Concept
When solving an equation you must recognize the family it belongs to so you know

what algebraic strategies/procedures to use and whether there may be extraneous
or invalid solutions.

Type of Equation Types of Solutions

Linear One solution, no solution,

Example:3x —6 = 2x+ 5 infinitely many solutions.
Polynomial The number of solutions is equal

to the degree of the polynomial.
Solutions can be real or
imaginary numbers.

Examples: x? — 5x = 0,
x3—6x*+5x=0

Solutions must be real numbers
and make the radicand = 0.

Square Root
Example:vx —1=7

Cube Root Solutions must be real numbers.
Example: ¥/3x = 4
Rational Solutions cannot make the
Examples: - = —, 2 -2 =5 denominator equal to 0.
"x  x+4 x  x-2

Exponential Solutions must be real numbers.

Examples: 4 = 8%, 2e* = 12
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Objective: Solve equations.

Solve the inequality.

—x+2>5

—x+2>5
—x>3
-x 3
>_
-1 -1

x< -3
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Objective: Solve equations.

Solve the equation.
94+7(x+2)=3x+4(x—4)

9+7x+14=3x+4x-16
Tx+23=Tx-16

23 #-16 — |no solution
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Objective: Solve equations.

Solve the equation.

X' =9 +20=0
(x=5(x-4)=0
x—5=0,x—-4=0
x=5 x=4

Qua ot ¢ Formula
Civen o X +lbx+=0
- b x Jloy - Yac
ol o

X:
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Objective: Solve equations.

Solve the equation.

25x>—-36=0
(5x+6)(5x—6)=0 25x% =36
Sx+6=0, Sx—6=0 L 36
6 6 T
Y25 25
1:ig
5
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Objective: Solve equations.

Solve the equation.
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Objective: Solve equations.

Solve the equation.

2 B 4
5x 10x
20x =20x

0=0

infinitely many solutions

What value of x is not part of the infinite number of solutions? Why?

The value x = 0 is not a valid solution because division by 0 is undefined.
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Objective: Solve equations.

Solve the equation.

7 1

x% x
¥t =Tx

X' =Tx=0
(x-7)=0

=1 x=7=0

exiraneous x=7
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Objective: Solve equations.

Solve the equation.

5% = 45

SV 45
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Objective: Solve equations.

Solve the equation.

Vx+2+8=2

Jx+2=-6

(V2] = (o)

x+2=3

=<4 — |no solution

check :\34+2 =6
36 # —6
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Objective: Solve equations.

Solve the equation.

Jx =4
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Objective: Solve equations.

- Page 12 of 14

Solve the equation.

2* =19
log2* =1logl9 In2* =In19 x =log,19
x-log2 =1logl9 x-In2=1Inl9 logarithmic form
- log19 In19
X = X =—-
log 2 In2
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Objective: Solve equations.

- Page 13 of 14

Solve the equation.

9 =12%
log9 =1logl2” In9=mn12" x=1log,, 9
log9 =x-logl2 In9 =x-In12 logarithmic form
log9 In9
X = X=—
log12 Inl2
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Objective: Solve equations.

Solve the equation.

2(x+3)="Tx
2x+6=T7x
6 = 5x
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